GEl:!III:E U"I;u.ﬁ AND GDMK mmEI-A[@
e ¢ \&/LORK

PNEUMAT

Guide units GDHK and GDMK guarantee excellent alignment and
anti-rotation of the pneumatic cylinder connected to them.

They can be used either singly or in combination to obtain complete
handling units. The typical dovetail profile with V-Lock slots allows
assembly with other elements in the V-Lock series.

)
o
2
<
=
-
9
<

Guide units can be coupled with:

- 1SO 6432 cylinders @ 12, 16, 20 and @ 25. You can not use sensor
bracket mod. DSW;

- 1ISO 15552 series 3 cylinders @ 32 and 40;

- 1SO 15552 STD and type A cylinders @ 32 and 40. You can not apply
position sensors.

- Electric cylinder series Elektro ISO 15552 @32. It is a version with

shorter columns; the cylinder must be an anti-rotation type because the

guide coupling is rotary and cannot prevent piston rod rotation.

Series GDHK has bronze bushes and is more suitable for high loads.
Series GDMK has recirculating ball bushes and is more suitable for high
speeds.

GUIDE UNITS SERIES GDHK AND GDMK

Guide units are available with 5 types of stop mechanism:

- without stops (stop is provided by the cylinder);

- with buffers for piston rod retraction;

- with a hydraulic shock absorber for piston rod retraction;

- with buffers for piston rod extension and retraction;

- with hydraulic shock absorbers for piston rod extension and retraction.

TECHNICAL DATA 212 ‘ 216 ‘ 220 ‘ 225 ‘ @32 ‘ @ 40
Strokes mm From 1 o 600
The total stroke can be shortened using adjusting stops and/or the rear plate
Stroke reduction via stop adjustment mm 14 per side ‘ -22 per side | -40perside | 35 perside
Temperature range °C -10 to +80
Recommended maximum speed m/s 1
Rear plate forques Nm 7 %1 22 £2 352
Guide column diameter mm 10 12 16 20
Maximum impact energy
with shock absorbers Ec[J)] 5 20 25 70
with buffers Ec[J] 0.5 1 2 2
without stops refer to the diagram on page A3.82
Repeatability (at 6 bar)
Versions with buffers mm +0.02 (with minimum pressure 5 bar)
Versions with shock absorbers mm +0.02
Lubrication The guides are supplied lubricated. There are two greasers on the guide bodies

(one per column) for periodic lubrication using a pump with a nozzle.
The following greases are recommended:
- version GDHK: code 9910502 (RHEOLUBE 362 HB)
- version GDMK: code 9910506 (RHEOLUBE 363AX1)
The lubrication interval depends on numerous factors such as load, femperature,
speed, stroke, lubricant, environmental conditions and assembly position.
As a general rule, lubrication is recommended every 500.000 - 1.000.000 cycles.




COMPONENTS

@® BODY: anodized aluminium GDHK
@ FRONT PLATE: anodized aluminium
® REAR PLATE: anodized aluminium
@ STOP: tempered steel
® COLUMN GUIDES:
- sintered bronze (for GDH version)
- recirculation ball bushes (for GDM version) GDMK
©® GUIDE COLUMNS:
- C45 grinded chromed steel (for GDH version)
- fempered steel (for GDM version)
@ DUST SCRAPER RING: polyurethane or NBR
BUFFER
© DECELERATOR
ADJUSTABLE STOP: tempered steel
(for versions with shock absorbers)

@ COUPLING: C45 steel

%)
o
g
=
G
<

GUIDE UNITS SERIES GDHK AND GDMK

EXECUTIONS
00 01 02 03 04 05
Ul | Ul | H H
dl 1h ] A
[3EE] [E] ] Eisca Eisca [E]
(SRR (SR ok (ot (oRE (o
| oo | | ete | Rista < oHe [et]e ]
I | I | I 1 I |
ofefe | [ ofefe | [ ofe]e | EIZIES olele [ ofe]e
Hla |F i
A B ] B Er % — ET B % — A B L
without stop with with with with with
front stop front stop front and rear stop front and rear stop short columns
and buffers and shock absorber and buffers and shock absorbers for Elektro cylinder

WEIGHTS AND MOVING MASSES

TOTAL WEIGHTS
Weight [g] for Stroke = 0 mm .
n?n Execution ‘x:rgh:“[g‘]
00 01 02 03 04 05 Y
12-16 779 817 823 953 965 - 1.2
20-25 1412 1520 1534 1809 1837 - 1.8
32 2262 2582 2558 3161 3113 2137 3.1
40 4316 4836 4873 5864 5938 - 49
TOTAL MOVING MASSES
Weight [g] for Stroke = 0 mm .
n?n Execution ‘x:rgh:“[g‘]
00 01 02 03 04 05 Y
12-16 293 293 293 391 391 - 1.2
20-25 518 518 518 699 699 - 1.8
32 667 667 667 926 926 542 3.1

40 1670 1670 1670 2178 2178 = 49




ATNMETAL
&/ WORK

PNEUMAT

LOAD DIAGRAM
("]
The graph on the right shows the maximum static load that can be 1000 o
applied to the guides as a function of the distance between the body of o 2
the guide and the barycenter of the load (with the piston rod extended). ool L g
\ 5
\ <
700 \
x
600
\ A
O
. a
500 4
<
<
I
400 8
g 2 (%]
z %f ;’f%% ?} %
£ 300 N NI 72}
w
=
Z
200 -]
L
\ =
Y )
160 **% \ o
¢S N
120 G N
N
100 \
80 ™~ N o
50 0, k 2 5 N ~
3 T~ T~
30 7 ~—
10 T
50 100 150 200 250 300 350 400 450 500 550 600
 (tm
HORIZONTAL APPLICATIONS VERTICAL APPLICATIONS

B

t
T
x = &

I\

[ ofofo ]

[o] o]

[Tl |
ol |

[o] o]

[ efefe ]
[elefe |
[e[ e ]
[ elele |

B = Barycentre; S = Projection; P = Useful load




%)
o
g
=
G
<

GUIDE UNITS SERIES GDHK AND GDMK

MAXIMUM LOADS AND SPEEDS

The graphs below show the maximum recommended movable loads “m” (masses) [kg] as a function of the average traverse speed “v" [m/s], defined

as stroke/time, slide position (horizontal/vertical) and supply pressure.

MAXIMUM LOADS: VERSIONS WITHOUT STOPS

v [m/s] ‘
1 T
e/f?oeg\ja&)? \640\
N ~N
0.5
N

0.2 ™~ ™
0.1

0.1 0.2 0.5 1 2 3 45 10 20 50 100 200 500

MAXIMUM LOADS: VERSIONS WITH SHOCK ABSORBERS

@ 12-16 - Vertical orientation

v [m/s]

12

1.1
1.0

0.9
N
08 N

SN
07 N\ \\
\

0.6
0.5
0.4 Eq
03
0.2
0.1
0.0

m [kg]

@ 20-25 - Vertical orientation

v [m/s]
12
1.1
1.0 A-B-
09 AN 3
0.8 ~ —~

0.7
0.6
0.5
0.4
0.3
0.2
0.1
0.0

1 2 3 4 5
m [kg]

A = 2bar B = 4bar C = 6boar D = 8bar

m [kg]

@ 12-16 - Horizontal orientation

v [m/s]

12

1.1

1.0

0.9 ~

0.8 N

0.7 -

//

0.6

0.5

m g0 @ >

0.4

0.3

0.2

0.1

0.0

@ 20-25 - Horizontal orientation

v [m/s]

m [kg]

1.2

1.1

1.0

A-B-CH

0.9

\D'

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0.0

E =10 bar

m [kg]




ATN\METAL
&/ WORK

PNEUMAT

(7]
@ 32 - Vertical orientation @ 32 - Horizontal orientation s
=
v [m/s] v [m/s] g
12 12 | 5
1.1 1.1 i <
1.0 A-B+ 1.0 A-B-CH
0.9 —~— ~ Cq 0.9 I~
08 S ~ 08 DS
b \\ .l . N 4
07 . ==Dx 07 =
0.6 SN 06 Ed 8
0.5 05 )
S~
0.4 Ed 0.4 E
0.3 0.3 X
0.2 0.2 o)
O
0.1 0.1 byt
00 00 =
0 2 4 6 8 10 0 2 4 6 8 10 e
m [kg] m [kg] %)
z
5
i
o)
. L . s S
@ 40 - Vertical orientation @ 40 - Horizontal orientation O]
v [m/s] v[m/s]
12 12
1.1 1.1
1.0 A+ 1.0 A-B-
0.9 ~ S —~— B 0.9 A —
S T~
0.8 0.8
~ oy Cl ~
07 S —~ 07 S DA
0.6 AN \\\‘D 0.6 ~
N d
0.5 ~ 0.5 Ed
0.4 0.4
0.3 ~— 03
0.2 S 0.2
0.1 0.1
£
0.0 0.0
0 4 8 12 16 20 0 4 8 12 16 20
m [kg] m [kg]
= 2 bar B = 4bar C = 6bar D = 8bar E =10 bar
MAXIMUM LOADS: VERSIONS WITH BUFFERS
@ 12-16 - Vertical orientation @ 12-16 - Horizontal orientation
v [m/s] v [m/s]
1.2 12
1.1 11
1.0 1.0
0.9 1 0.9 -
0.8 1 0.8 NN
N NS
07 A 07 A
NN B X NN B
0.6 \\TIC 0.6 N\ (“\\
N\, 'D\ —~— AN N
0.5 N D> 05 NN~
- — E ~—
0.4 SO~ 0.4 —_— —
03 03 t=E===
0.2 0.2
0.1 0.1
0.0 0.0
0 05 1 15 2 25 0 05 1 15 2 2.5
m [kg] m [kg]

= 2bar B = 4bar C = 6bar D = 8bar E =10 bar




%)
o
g
=
G
<

GUIDE UNITS SERIES GDHK AND GDMK

@ 20-25 - Vertical orientation

v[m/s]
12
1.1
1.0
09 1
0.8 TN
07 ANANN
TN
06 NN
AN (O
0.5 Yoo
0.4 \ N~
’ E
0.2
0.1
0.0
0 1 2 3 4 5
m [kg]
@ 32 - Vertical orientation
v[m/s]
12
11
1.0
09 1
038 1 N
07 NN A
06 NN
0.5 NI
E ~J
0.4 —_—~
T~
03 ———
0.2
0.1
0.0
2 4 6 8 10
m [kg]
@ 40 - Vertical orientation
v [m/s]
12
1.1
1.0
09 -
038 1
07 1
AANANN
06 ARA\\N
05 L MAANN
‘ ANNNAS
0.4 R —
03 AN C
0.2 \JD —
0.1 E
0.0
4 8 12 16 20
m [kg]
A = 2bar B = 4bar C = 6bar D = 8bar

@ 20-25 - Horizontal orientation

v[m/s]
12
1.1
1.0
09 1
08 NN
o A
0.6 \\\\‘ B\
oG
05 N DN
0.4 F
03 —
0.2
0.1
00
1 2 3 4 5
m [kg]
@ 32 - Horizontal orientation
v [m/s]
12
1.1
10
09 1
08 1 e
N
07 NN AC
0 AN
. AN A ~
0.5 AN —~
. N \\
0.4 E\ ———
0.3 —
0.2
0.1
00
0 2 4 6 8 10
m [kg]
@ 40 - Horizontal orientation
v [m/s]
12
1.1
1.0
09 1
08
07 1 X
0.6 NN
k LRANNY
05 NN\
- NN\TA
AN
0.4 N B
03 NN\ C
! NG
0.2 N —
0.1 YE
00
0 4 8 12 16 20
m [kg]
E =10 bar




ATN\METAL
\&WOR

PNEUMATIC

DIMENSIONS @ 12-16
7
Versions 00-01-02 + = ADD THE STROKE s
20 20 20 9,5 ® IE
o O[T T =7 =
uf‘g A — © g (§)
el ﬂ—g—fﬁ——ﬁih_ S'(J <
O 1T | 1|9
77’@' IR & F O
1 - - K_ §
1 ()
@7 ——— Nn8x$—@ [0
depth 5 [a)
z
<
* 4
B5H7 20, NF.8 x M5 20__20_ 19,5 el - I
depth 5 [ = = depth 8 il Nr.2 x M10x1(*) T o
/ o
T 2 o l: 5
& s s (] | o
[ o TE — 2
1B & © g n N Z
e © Ml lHo® 3 5
dadle | © e s ue=leNllr=" ! A
b R S = e g R S
S o RIRE:OENEE 3
o PRIt W
L — 83
L= S Nr.2 x M5 _%71__1_\__I_L~~— 8
5H7 \_depth 8 (2>—20_| 20 _|_20_B,5
7 depth 5 ‘
135+
75 : s o
£
'C_) (:) o 0 Bl <
=) \ © 3
—NlIT =
_HO \::\'__\ 7-|_7.J. S
w — PR I
T 5 = VD == I =
n o _7 — 1 -1
© (2)—20_| 20| 20_B,5 \ Nr8xM5 S )
depth5 ™
14
13
60+(216) 53+(212) 2 o
I T e S S i S ‘
ﬂ ———— [ 1]
u : ‘
_ 7@ =
ol W*i#" ~ A %g ~|i0
o ~~'{i‘r~~i‘f, K i
] — I
{ - al ‘
'.,
t%—ﬁ__rﬂ j”_—[
Greasers 6,5 =8
EE— 49 13 40

Not present in version 00

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

Qe

©)




DIMENSIONS @ 12-16

0
g Versions 03-04 += ADD THE STROKE
E 55 (7 1Nm) 2020 20 9,5
= +—®
£ — — — £
< -l == L | 0%
o (T Lo I e |1 e | =™
5 EamE: >
| | |
~ n‘ J_l;g lwal ,75 H |
2 O & L= T
P npgrggn
o @ — oo
/o) 1 Nr.8 x M5
Z depth 5
4
3
5 ®5H7 20 © Nr.8 x M5 2020195 =i ~
O depth 5= = 9 depth 8 1] Nr.4 x M10x]1 s
@2
;ﬁ) T |7 _LJ_IJ_I__LJ
= i
g N L‘ 2“ b o T _%. E — = —
Z | N Ln_g L i I
0 g HEAr T m%--éi ZEIN] 3
= dek | = TR RPN e | N
3 & = %’M’ 777_@;Tt$ ‘}E?% L f‘Ei’
S Ek (AR ) 2
— > — ]:E ©
ALY S Nr.2 x M5 [ _%ﬂﬂﬂ 8
7 — 5H7 \ depth8 (2)—~1.20_| 20_| 20 9,5
depth 5 ‘
2 ‘ 135+
% 75 ~ o
T (F— =l 55 =
N = = m
©), . 5 N
£O) 7’u%\{}\ _\;&*u’ 2=
. — _7' D My T = |
) (2)—1.20,1.20_| 20,5 Ngég:);fgg; S|
14 14
2 13
80+(216) 53+(212) 2| 9
| ¥
— I T O e I T
= len
B I s = Il ~lo
[celInNIaY] Lo {2“77 777‘\F~:75ﬂ[ <t |~
— — | I
=1
| A O B B
5 (2min) 6,5 =8
Greasers 49 13 40

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

QO

@




ATN\METAL
&/ WORK

PNEUMAT

DIMENSIONS @ 20-25
' 7,
Versions 00-01-02 + = ADD THE STROKE s
=
20 20 20 20 23,5 <
o @— ®) o =)
0 o i S e e T e Y e i ¥ [0)
S ellelle el P 58 <
— & \2?\2}7\?}\_
T —— — o
(— E3 i 1]
I A S B L 4
‘ ‘ \ =
1 ()
2 o< \Nr10xM8 @)
depth 5 %
<
3 *)

B5H7 20 ® Nr.10 x M5 20 20 20 20 13,5 =170 X
| depth 5 [= = —) depth 8 i, . Nr.2 x M14x1.5 (*) )
(ce]

~ w
T L
Tilard N 2 T © %
NP LS 0 )
= ”:'i* — HH = e f - - —\F
N mTZEFL - T3 | | | | ) 2
& © ~ "0-8 T_T_T__ —— =
e [HemeEs ~ellellelleMell IT] 5
¢|¢|o g I M [T [T [T 11 | 3 L
S ; e e e e] " - >
N &l || © __L__L _--__i_il_d_ T O
- [N S i — i ] o5
I s ( \ 3
YA N N8 x M5 A ®
7 sy e 8 @%_ 20 | 20 | 20 | 20 | 235 | 3
depth5 -
2
‘ 182+
112 ~ ©
T
« B)r— el BE <
s \ o3
Y"_"_"__"_ R
{ - O OO B O |
— gil CEIES |1 [ [o] L 7‘22
o L — —— Hi S
T e e e
o o] _%
o @J 20 | 20 | 20 | 20 | 23,5\ Nr.10xM5
depth 5
14
10(220)15.5(25)
71+(220) 76+ (225) 8] =27

97
31
=5
i = =i
doye
pe=d
\
»
Hiel

D
FA
[C7 1]
58
92

ﬂ
\

=13
| 49(220) 54.5(225)

Greasers 6,5

e

Not present in version 00

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

Qe

©)




DIMENSIONS @ 20-25

v
g Versions 03-04 += ADD THE STROKE
=
g =6 (22+2Nm) 20 20 20 20 235 &
= [t} [NTe)
< T 1{}{3{3{2@” £y
3 = el lelle] _;t_g—v S
- = i B \E\{}\éz\__
: S s
HH ] L [F1 N
a L | - -
(DD @ 1 \Nn10xM8
Z = depth 5
<
3
¥ ®5H7 20 Nr.10 x M5 2020 20 20 13,5 =17
o ofdepth 5 = _ /—@ depth 8 | Nr.4 x M14x1.5
9 . .
w
wl
-_— = F— = e N e O o Y e Y
?‘,g JeTd 2 o e T
@ of |[HEPEE 2 Nl ~ N[ )
= % 1) o v ~
Z o O O o~ e} k ] ] - ? - )
5 SIS SEOSS —ellellel|eMell [
L olele Q T \ I I I \ : I
= SRR Ll cllnt
O o & I¢k < __L _L.Z—v__i_ﬁi_d_ EE .3
A I - ‘ ‘ I\ 0 g
Q& $;¥§t L o -3
U Ul Nr8 xM5 — g
depth 8 1 8
H7 @_/ 20 | 20| 20 | 20 | 23,5 3
| | depth5
182+
112

O e

|

?
‘ ‘ ‘ ®5 H7
depth 5

1 ﬂ_ =% Te] il &I
| [ A Eal [ T (S
OISl S
N oS . |
— = @ _%_r'\__r'\__rﬂ_ L
o~ ( : Y120 | 20 | 20 | 20 | 23,5 Nr.10 x M5
" N\ depth 5
18 14
3 10(220) 15.5(225)
71+(220) 76+(225) 1.3 =927
—  — I ey N ‘
ﬂ_ - - =
Y 9 N
. i R A S = ]
Bele Lol /o] [HBK ] 8
I T A e P :l‘
— %
=/ P
_,_\_-D:
7 (2 min) J_ j 6,5 ‘ =13
Greasers 72 15 | 49(220) 54.5(225)

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

QO

@




ATN\METAL
\&WOR

PNEUMATIC

DIMENSIONS @ 32
. (7]
Versions 00-01-02-05 + = ADD THE STROKE s
=
20 20 20 20 20 22,5 e g
N v -
':,\: 1 _\_l__\_l__\_l__\_l__\% T c (&)
o) | | | 32—\/ g & <
BRUBRUBEIBELE o
0} |- 0| 1}
D | |
o (14 e g = h4
T [H] =
i 4 ()
\ C) O
1 Nr.12 x M5 &
depth 5 <Z(
>
?5 :7 20 3 Nr12xM5 .20 20 20 20 20 20 12,5  S24() T
dgin g 7 depth 8 I Nr.2 x M20x1.5 (* O
o
&
D [ v - ~ o)
_ : Tl ok o i S 4]
~ | |A &) N IS = zZ
M AT = 5 :;— %
[ k} | o ® 9 L
3 LSHEE I i - A
[ o )
o kL) 8 = R 3
Ny y L N 0
s AN S é |
u—T { | 8 | — S -g
A — 1 5 , ) , , , , ,
@ U N\ Nr.6 x M5 un__m__m__rn__m__rru
depth 8 ‘ ‘ y y y y ‘
2 5 H7 g @:7 2012020 | 20| 20 (22,5 4®
depth 5

224+ (199+ for the version 05)

145 i 1)
0 @7 -l ey
= 93
©
e o e b ]
mEY 7_%1__1_:5 o
-l ki B 1 T mik-d
AP PN ] ] ©
. i)
0 7 O O O Y, W B W
@j 20|20 120|29 |20 22,5\ Nr12xM5 o
‘ depth 5 =
18
1
94+ L3
=
8 - fﬁi 22
o
Greasers 110 17 54 =13
*  Not present in version 00 and 05
@ Holes for centring pins
® Threaded holes for fixing
@ Dovetail for “V-Lock” fixing.
For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key




DIMENSIONS @ 32

(7¢)
g Versions 03-04 += ADD THE STROKE
<
= 6 (222Nm) © 20 20 20 20 20 22,5
o . n .-
‘<, N~ o O s O Y 3 o3
I3 I\ | | 32—\/ o &
©3 Wi SELBE DL © 5
= e OO 1
mHES o (5] [t
4 — [TT® 1% ‘ 1 —H
= L L B | R
a ‘ i
O
S 2 <1 \Nr12xM5
< depth 5
v
5 P5H7 20 3 Nr.12 x M5 20 20 20 20 20 20125 =24
O depth 5 | = = depth 8 1] - Nr.4 x M20x1.5
0 S
% //{) —
(L/u) (T TL—HL +| p y]\:
w > ]
[ — o v = O
= S IO I S e =
B (el ]| & 8 NiPYiil '
fa) S oS e L )
8 o 7I {}I"l.€> | 8 I rallrsiim= I 3
Sy o] o disdlinne e
T A & 4 - L %
(3]
= 4 /7 : - © 3
Nr.6 x M5 D N O T W Y N Y W Y N Y — 8
depth 8 20120120 |20 2Q[22,5| 3
depth 5

wn
. el
n 9= 0 g
'c§ 3
v
3 = 23
| [o0]
et -
— ———— I N Ny T N N Y WO Y W
Nr.12 x M5
~ 2 20| 20| 20| 20 | 20 22,5‘ depth 5 o
18
18 18
3 94+ T3
I I s
] _ _
I =t
[~~~/ —F—] |
] "—L[ == ;‘ ]

NI ey 10 o L o[
Q= N \5{ ) R N(=
N~ > j*:;‘ =L
] A A . Eéhx

= /® .

7 (2 min) 110 17 54 | \=13

Creasers,

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

QO

©)




ATN\METAL
&/ WORK

PNEUMAT

DIMENSIONS @ 40

Versions 00-01-02

+ = ADD THE STROKE

20 20 20 20 20 20

QOO *

@

5H7
depth 5

95

depth 5

L
u:

Nr.14 x M5
depth 8

T]

]

5H7 20
depth5 | == :
<
o
o e
N~
8 5%
- ]
o
o
N
o
o
o
Rii=
Nr.14 x M5
depth 8
o)
I
st

Nr.4 x M25x1.5 (*

@ 5H7
depth 5

Greaser

240+

145

5H7
depth 5

@5 H7
depth 5

=

62
65

<t
<t
a2l

LT i

15

148

Not present in version 00

Holes for centring pins

Threaded holes for fixing

Dovetail for “V-Lock” fixing.

For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key

Nr.14 x M5
20 [ 20 | 20 | 20 | 20 | 20 9,5
@ BEL NGy
23
‘ 107+ 13
———e |
=== ] K-
Y 9 -+
12— o PR e
[ 1Y
N s B _— -
L " F——————— S
[ | I
S e
L 107 21 59 =15

6H7

ACTUATORS

GUIDE UNITS SERIES GDHK AND GDMK




DIMENSIONS @ 40

7
-3 Versions 03-04 + = ADD THE STROKE
E! 20 20 20 20 20 20 95
< =8 (35+2Nm) 3
=) - ‘ ©
o T =
< 53 3
4
E o
©
A Nr.14 x M5
<Z( . depth 5
4
(JD; Nr.14 x M5 20 20 20 20 i 20 19,5 =32
T
et ////4-{:) :Ei?m‘B e Nr.4 x M25x1.5 ~
L S S
oz —%
(LH : — § ' N
4 o
zZ o o 0 ~ 0
) o & N < I c
w & Z 5 5 g 3
[ 8 3 ©3
2 8
O o I
o N
o~
o
o N
N (@)
8 N " N
*—“ﬂylad\- Nr.14 x M5 (8)
®5H7 depth 8 @
depth 5
240+
145

D5 H7
|depth 5
|20

o
o
g 107+ 3
‘ |
| =]
ool oy 10 L | ol
Kis oo PR eR
|/ SR 1 =7
(N e SO 4 S S B
e —
L 1] . P
] e |-
9 (2min J_ ‘ 107 21 59 =15
@ Holes for centring pins Cresrar ‘
® Threaded holes for fixing
@ Dovetail for “V-Lock” fixing.
For standard dimensions, see chapter V-Lock adaptors
Slot for “V-Lock” precision key




C

SYOLVNLOV

MWAO ANV XHAO S31¥3S S1INN 3dINS

ATNMETAL
Ny rhrtid

K
FAMILY
K V-lock

bl
Q
o)
o
S S .
E 2 S8
o= = &
o= oLV .C
8= g-£
i) S35 %
a o
= s AL
> W m&ssl_.m
= Q. Qo
o = 6 § 8
2 s 5 358356
5 b 2777177 g 225§
° A A = s c &2 ¢
o] F A AT i o o552
= O O c c O
(5] &% % 5o ©
- o222 s
5 £88552°8
— Oralfolrolrols
- ££££<£=
= 222222
)]
=
£ O~ N®S W
Hm 858838
=
|
=
Q
S —
= | m
2 o £
o , A ,
() ¢ D o ¥ 8
= . A= B O 5
=) A\ L 8 E 3
2% e == 2§
5 2 4y \SPCER >
o A / o B
<2 . 33
)
<= ="\
] |
E £ \W&H‘\W\\mﬂu‘w
2o,
s 8o Tt @ .
o3 z %
4 o3 Sl S 5
= —_— a1
£ 50© ~ F 23
> S o g 22
%) =
] Iae) = o
r=) < c D N ™
z 2,588
—
)
& 2352= R
T o~
~ “— DT o ~ w S2RASR 4
o c =3 o
™ O 5 S = O 24
>-E o © a =
3 8 T NNO W1 NO
QO c 06 © —_—— A N®T
o IDHrm oo oOoOOoOoo =
D Q0S5 o o
£7T 2 5 o
=z c.SE .25 [%) =
o o > &5 ek = [T
© 2520 Q 5 O
= c 2= ¢ o o o~ )
=L = o N & = 32}
= ET T 3 S c o |
zZ S5 Tt O (@] W w > Q o
oo £ 2 = s g
2 € 2T O < S
(o] SLxw \ Py 3 =
Vo v
= S0 77 ) x m o




ACCESSORIES AND SPARE PARTS
FOR GUIDE UNITS SERIES GDHK AND GDMK

ELASTIC MECHANICAL STOP
(7, Code 7] Description
g 212-16 220-25 232-40 W0950005401K 12-16  Elastic mechanical stop M10x1 + nut
—- W0950005402K  20-25  Elastic mechanical stop M14x1.5 + bushing
-8 W0950005403K 32 Elastic mechanical stop M20x1.5 + nut
E W0950005404K 40 Elastic mechanical stop M25x1.5 + nut
1S/
<
MECHANICAL STOPS

Code (7} Description

W0950005501K 12-16  Mechanical stop M10x1 + nut
W0950005502K  20-25  Mechanical stop M14x1.5 + nut
W0950005503K 32 Mechanical stop M20x1.5 + nut
W0950005504K 40 Mechanical stop M25x1.5 + nut

4
=
[a)
O
()
z
<
4
I
[a)
O
w
|
oz
[
w
w
=
Z
o
L
(o)
-
O

SHOCK ABSORBERS
Code 7] Description
W0950005301 12-16  Shock absorbers 2 M10x1 + nut
0950004004 20-25  Shock absorbers ECO25 MC2 + nut M14x1.5
0950004005 32 Shock absorbers ECO50 MC2 + nut M20x1.5
0950004006 40 Shock absorbers ECO100 MF2 + nut M25x1.5
REAR PLATE KITS
Code [/} Description
W0950005600K 12-16  Rear plate kit GD_K
W0950005601K 20-25  Rear plate kit GD_K
W0950005602K 32 Rear plate kit GD_K
W0950005603K 40 Rear plate kit GD_K
Note: invidually packed with 2 screws
GREASE
Code Description Weight [g]
9910502 Tube of RHEOLUBE 362 grease (for GDHK version) 1000

9910506 Tube of RHEOLUBE 363 AX1 grease (for GDMK version) 400




